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EE ;F_J}Sgs&ﬁ%ﬁ%: SC1,SSER¥E:H 2 |, #18:(200*200*8*12), fI&: P001-1 [A:95,Y3:299], SSH&: 248.0 cm
SS A .
SC1 (H #4§:200*200*8*12), BE{ &E: 49.872 kg/M, E{LREHE: 1.18 M2/M, B A #tBELREHE: 1.18 M2/M
EE: 248/100*49.872/1000= 0.1237 T(H§)
RETE: 248/100*1.18 M2/M= 2.936 M2
By Kt 7B R ETE: 248/100%1.18 M2/M= 2.936 M2
HeRiEHPZEEE-F5: 0.000 M3
3B (B I FEE): 2.50-2.48 = 0.02 M (0.0010 T(M)) FE:2.5 M BER YD
ST E- NS AR A AR
EAR EE:25 mm HEFTER:250*250 mm*mm
EE=(250*250)*25/1000000000(M3)*7850 Kg/M3= 12.266 Kg
MR, EE:20 mm ,EEETEX:200*150*1 mm*mm
E£=(200*150%1)*20/1000000000(M3)*7850 Kg/M3= 4.710 Kg
EAR EE:15 mm EEFTER:100*150*1 mm*mm
EE=(100*150*1)*15/1000000000(M3)*7850 Kg/M3= 1.766 Kg
B 5T E -8R 42 2R 40
EHEi24e: AN-M24-50, BEFER:1*4=4 X%

1B 3F ,SSHREE: SC2 ,SSEME:H B | H#:(1507150*7+10), {2 &: P001-1 [A:1139,Y3:299], SSKEA: 150.0

cm
SSEEITE:
SC2 (H B$8:150*150*7*10), A &E: 31.125 kg/M, BE{U R EE: 0.89 M2/M, B X #t BE L R EH&: 0.89 M2/M
E£: 150/100*31.125/1000= 0.0467 T (M)
KEME: 150/100*0.89 M2/M= 1.329 M2
Bh At B REE: 150/100%0.89 M2/M= 1.329 M2
Hef%Ph @8- 0.000 M3
BNFEIE (B IMHFET): 2.25-1.50 = 0.75 M (0.0233 T(Mf)) 7F:2.25 M ZER &Y
E ST E- SRR, EE AR
IR, EE:20 mm ,EEFTE:200*150*1 mm*mm
E£=(200*150%1)*20/1000000000(M3)*7850 Kg/M3= 4.710 Kg
EER,EE:15 mm EHEFTEX:100*150*1 mm*mm
E£=(100*150%1)*15/1000000000(M3)*7850 Kg/M3= 1.766 Kg
E ST E- R4 3040
E#25: AN-M24-50, BEFER 1"4=4 X




